Q.1

Q.2

Q3

Q4

Q.5

SCHOLASTIC APTITUDE TEST
SOCIALSCIENCE

When were Vedas Written?
(a) about 5000 years ago
(b) about 6000 years ago
(c) about 4500 years ago
(d) about 3500 years ago

‘Upnishad’ means

(a) to sit beside Guru

(b) tosit away from Guru

(c) to payregard to one’s parents
(d) to pay regard to Vedas

“Brahmdai” was meant for

(a) Land granted to farmers

(b) Land granted to schools

(c) Land granted to Brahmin as
gift

(d) Land granted to landless

Length of Great Wall of China
(a) about5000 kms.
(b) about 2000 kms.
(c) about6400 kms.
(d) about 2000 kms.

‘Ibene Batoota’ was citizen of
(a) China

(b) Spain

(c) Moracco

(d) England
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Q.6

Q7

Q.8

Q.9

Q.10

‘Jamali-kamali’ Mosque is situated
at
(a)
(b)
(c)
(d)

Kanpur
Lucknow
Agra
Delhi

‘Koran’ is a holy book of
(a) Hindu

(b) Sikh

(c) Islam (muslim)

(d) Christian

‘Bharat Natayam’ classical dance
belongs to

(a) Punjab

(b) Gujrat

(c) Kerala

(d) Tamil Nadu

What is the meaning of ‘Chauth’
(a) Gift

(b) Designation

(c) Tax

(d) penalty

Word ‘Kazi’ means
(a) Soldier

(b) Teacher

(c) King

(d) Judge
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Q.11

Q.12

Q.13

Q.14

Q.15

‘Democracy’ means
(a) Rule of king

(b) Rule of people
(¢) Rule of Army

(d) Rule of oligarchy

At which age in India a person gets
‘right to vote’

(a) at21years

(b) at16 years

(c) at18years

(d) at25years

The elected member of Municipal
Committee is known as

a) Member

b) M.P.

c) MLA

d) Councillor

In world which country of South

America is known as healthiest
country.

a) Brazil

b) Peru

¢) Costa Rica

d) Urguay

World's biggest cloth market
‘Irode’ is in

a) India

b) China

¢) America

d) Britain
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Q.16

Q.17

Q.18

Q.19

Q.20

Who appoints Prime Minister of
India.

a) Chief Justice of India

b) President of India

¢) Vice President of India

d) Governor

How many fundamental rights are
there in Indian Constitution

a) 10

b) 6

c) 8

d) 7

Presently how many judges are
there in Indian Supreme Court

a) 20

b) 26

c) 24

d) 30

‘Tawa Fisher Union’ strugled for
which forest habitation

a) Dantewada

b) Chambal

c) Satpura

d) Aravali

‘Secular state’ means

a) Where all the religion got
equal right

b) Whichis based on a
particular religion

¢) Which is based on caste
System

d) Which is based on racism
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Q.21

Q.22

Q.23

Q.24

Q.25

‘Pole Star’
direction.

a) South
b) North
c) East

d) West

indicates which

Change in season on earth occurs
due to

a) its revolution on axis

b) Rotation around the sun

c) Gravitational force

d) Itsinclination

Area of India is

a) 31.8Lacsq.km.
b) 32.8Lacsq. km.
c) 33.3Lacsq.km.
d) 35Lacsq.km.

Place which recieves maximum
rain fall in the World

a) Mumbai

b) Asansole

c) Mosinram

d) Dharmshala

‘Yangestse’ River flows in which
country

a) America

b) Australia

c¢) China

d) Japan

9.21

w.22

9.23

9.24

9.25

S.A.T.---5

'ga anr’ foeg fen @t shm wvar €
%) o

W) IW

) g&

T) ufyem

geeit ¥ g Q= wr SRt ¥
% ) gt &1 0 gl W gwar
W ) gt w1 g & T S qFhT

SRIE
M) TSR & HROT
) et o Fahra & w0

WA T AR &

&) 31.8 W@ o feR .
@ ) 32.8 W@ 1 femR ..
M) 33.3 @rE o fem .
T) 35 @rg T foh.

fava W wa@ sifus aut aren we
&) gad

@) IATEAHA

) W

T) evivmen

‘g’ T frm emT A aE ¥
& ) 3Mfanr

@ ) meforar

T) W=

q) AU



Q.26

Q27.

Q28.

Q29.

Q30.

Which is not a means of
communication

a) Telephone

b) Book

c) Television

d) Table

‘Merino’ species belongs to
a) Fish

b) Elephant

c) Sheep

d) Cow

As we go up in the atmoshphere the
pressure

a) Increases

b) Decreases

¢) Remain unchanged

d) Can not be measured

Which is a component of natural
environment

a) Hydrosphere

b) Industries

c) Community

d) Education

‘Silicon Valley’ is situated at
a) Banglore

b) California

c) Shanghai

d) London
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Q31.

Q.32

Q.33

Q.34

SCIENCE

How many centimetres are there
in one metre

a) 10

b) 100

c) 50

d) 1000

How many terminals are there in
one electric cell

a) One

b) Two

¢) Three

d) Four

Which metal is used in thermo-
meter

a) Mercury

b) Lead

c) Silver

d) Copper

Rate of covering a distance is
called

a) Motion

b) displacement

c) Acceleration

d) Speed
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Q.35

Q.36

If the size of the image and object
is same. Then the mirror will be
a) Concave

b) Plane-mirror

¢) Convex

d) None

The unit of pressure is
a) Kilogram

b) Metre per sec.

c) Hertz

d) Pascal

Q.37 The hearing capacity of human ear

Q.38

Q.39

is

a) 10 Hz- to 10,000 Hz
b) 20 Hz- to 20,000 Hz
c) 30 Hz- to 30,000 Hz
d) 40 Hz- to 40,000 Hz

Which are the basic colours
a) Black, Blue, Green

b) Green, Yellow, Red

c¢) Blue. Green, Red

d) Yellow, Black, White

How many planets are there in our
solar system

a) Five
b) Seven
c) Eight
d) Nine
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Q.40

Q.41

Q.42

Q.43

Q.44

A body at rest may possess
a) Kinetic energy

b) Potential energy

c) Solar energy

d) None of above

Which gas is required for
respiration and burning.

a) Nitrogen

b) Oxygen

c) Carbon dioxide

d) Argon

What is the normal temperature of
human body

a) 35°C
b) 37°C
c) 39°C
d) 41°C

What is the colour of copper
sulphate solution

a) Red

b) Blue

c) Green

d) White

Chemical name of baking soda is
a) Sodium hydroxide

b) Sodium carbonate

¢) Sodium bicarbonate

d) None
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Q.45

Q.46

Q.47

Q.48

49.

Which gas is produced by reaction
between metals and acid

a) Oxygen

b) Carbon dioxide

c) Hydrogen

d) Nitrogen

Particles of an atom are
a) Electron

b) Proton

¢) Neutron

d) All the above

Which metal is non-conductor of
electricity

a) Copper

b) Silver

c) Lead

d) Iron

What is lime water
a) CaCo,

b) Ca(OH),

c) CaOCl,

d) None

Reaction between sodium & water

is

a) Slow process

b) Fast process

c} Inactive process

d) Some time slow & some time
fast
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50.

51.

52.

53.

The lowest polluting fuel is
a) Petrol

b) Coal

c) Kerosene Oil

d) CNG

Deficiency of which vitamin
causes Rickets disease

a) VitaminA

b) VitaminB

¢) VitaminC

d) VitaminD

Which part of flower develops into
fruit

a) Androecium

b) Root

c) Gynoecium

d) Petals

Habitats, in which plants and
animals live in water are called

a) Terrestrial

b) Abiotic

c) Aquatic

d) Biotic

Which gland in the largest gland
of human body

a) Kidney

b) Liver

c¢) Stomach

d) Pituitary gland

Which Carbohydrate is present in
abundance in grass

a) Glucose

b) Starch

c) Cellulose

d) Sucrose
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56.

57.

58.

59.

60.

Transportation of water in plants
occuss by

a) Xylem

b) Phloem

c) Stomata

d) Lenticels

Fusion of male & female gametes
is called

a) Fertilization

b) Reproduction

c) Pollination

d) Seed formation

Bryophyllum reproduces through
a) Stem

b) Roots

c) Leaf

d) Flower

Malaria parasite is carried by

a) Butter fly

b) Female Anophlies Mosquito
c) Cockroach

d) House fly

How many chromosomes are
present in human cell

a) 42

b) 46

c) 40

d) 48
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61.

62.

63.

3
43
1. 11—
60
4
2. 22
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4
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43
4. 44—
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0.0005 x 125000
is equal to

0.625
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65.

66.

67.

Ram is three times as old as his
son. After 10 years he shall be twice
as old as his son. The present age
of Ram is

1. 45years
2. 20years
3. 25years
4. 30years

The marked price of an item is 10%
higher than its cost price. A
discount of 10% is given on the
marked price. In this kind of sale,
the seller registers
1. noloss no gain

2. gains 1%
3. loss1%
4. gains 2%

The difference in simple interest
on Rs. 1000 for 2 years paid by two
banks is Rs 5. The difference
between their rates of interest is

1. 14%
2. 1%
3. 25%
4. 5%

The product of two numbers is 864
and their L.C.M. is 72. Their GC.M.
is

1. 1
2. 12
3. 13
4. 14

64.
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68.

69.

70.

71.

Sonia’s salary is 25% more than
Anju’s. Therefore, Anju’s salary is
less than Sonia’s by:

1. 25%
2. 20%
3. 15%
4. 10%

If a man can go 2km. against a
stream in 40 minutes and the same
distance down the stream in 12
minutes. His speed per hourin still
water will be:

1. 5km.

2. 55km.

3. 6km.

4. 6.5km.

If x=16 and y=5, the value of

xz+y2+xy
—3 3 s

The greast number of 6 digits
which is a perfect square is

1. 998001
2. 998000
3. 999000
4. 999001
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72.

73.

74,

A tap works at the rate of 16,000 72.

litres per minute. It can empty a tank
20mx15mx8m in how many hours.

1. 1br
2. 1-

3. 2hr

4, 2— hr

A circular path runs around a 73.

circular field. The perimeter of
outer circle is 66m and the
perimeter of inner circle is 2m less
than the outer perimeter. If so the
area of the path is

1. 20.7 sq.m.
2. 346.5sq.m.
3. 192.5sq.m.
4. 196sq.m.

If each edge of a cube is increased 74.

by 50%, the percent of increase in
the surface area of the cube is

1. &0

2. 125
3. 750
4. 300
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75.

76.

77.

A wire in the shape of an equilateral
triangle encloses an area S sq.cm.

75. T% AR

* ATHR A 5
(AR, )? &1 Swer B ¥ afe st

If the same wire is bent to form a A &) Ueh g o AR A HIg S df 39
circle, the area of the circle will be A T GATS RN
S? ? N 3s?
. = 2 2 1. I 2. =
9 /4 9 /4
3 338 3s 338
(2 b4 T T
The perimeter of a triangle is: 76. UH ﬁtﬁwmnﬁmw:

1. Greater than the sum of its

1) it i & wEr T E

altitudes 2) videra & 4T A HW gar §
2. Less than the sum of its 3) sirderal o T W%’FIT?
altitudes 4) afam s yivdersl § g W
3. Equal to the sum of its altitudes T E
4. No relation between perimeter
and altitudes
In the adjoining figure. if RB,SC  77- MU fax ¥ afg RB,SC 3T TD,BD
and TD are perpendiculars to BD F IW T § et oreng foa A
with the lengths indicated, the x/y Il ¢ & o x/y SO Y
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T T
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78.

79.

80.

In the adjoining figure ABCD is a

parallelogram AE 1 DC andCF L AD.
IfAB=16cm, AE=8cm. and CF=10cm.

then AD equals.

1. 15cm. 2.
3. 128cm 4.

24 cm.
13.8cm

From the pie diagram shown below
representing the expenditure of an
average person. Find the percentage
of his income spent on food.

The mean monthly salary paid to 75
employees in a company is Rs.
1420. The mean salary of 25 of them
is Rs. 1350 and that of 30 others is
Rs. 1425. The mean salary of the
remaining is

1. 1425Rs. 2.
3. 1500Rs. 4,

1450 Rs.
1350 Rs.
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81.

82.

83.

English

The chapter ‘A Short Monsoon Diary’ is written by
1) Mark Tully

2) Ruskin Bond

3) S.D. Sawant

4) Nathaniel Hawthorne

Who wrote the poem ‘The School Boy’?
1) William Shakespeare

2) Walt Whitman

3) Ribindranath Tagore

4) William Blake

Choose the word with the right spellings.
1) Obedeintly

2) Obedientally

3) Obediently

4) Obedientlly

The feminine of the ‘God’ is: (Change the gender)

1) Godess
2) She-God
3) Goddes

4) Goddess

Select the correct ‘Tense’ for the sentence given below.
He was singing a sweet song

1) Past Continuous
2) Past Perfect
3) Present Ccontinuous

4) Past Prtfect Continuous

S.A.T.---19




86.

87.

88.

89.

90.

&=
‘aq W AT’ TS g foRw Sae A et §7?
1) oRfsg $aR fag
2) FT wEE At
3) wfvierwd
4) (mard g fEaeET
et wrar &t fAfr s 2
1) <R
2) @Rt
3) TamE
4) TFIH

Frefaiaa s # sfua form fag aen a2 §2

1)  Frwu faete S gl Waar TR IRy Afewr §

2) wieRara faeie F HET WAl gHRT THeY A §?
3) i faete 3 &, | @A TR Sy e
4) ‘‘virur faetes @, @A gART TR @R ¥

YIS T TN YIsg T &2

1) e

2) W

3) ufem

4) uRew

fret wETat & Sfaa ordd & fasrea =t giw)
i e HT|

1) g

2) g WE e

3) HUWE A
4) i g @
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